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Wonders of Creation
PART A: Grammar and Vocabulary P o

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

¥9q G €W slaanio

131- One of my close friends whose name is Alex always likes to ride a/an ... motorcycle.

1) little old red 2) little red old 3) red little old 4) old little red
132- I believe that Hafiz and Khayyam are the ... Persian poets in the world.

1) famousest 2) more famous that ~ 3) as famous as 4) most famous
133- She likes to spend much more time with her ... friend.

1) better 2) best 3) the best 4) a good
134- Rainforests have a lot of ... animals, but there are still some that we don’t know about.

1) delicious 2) amazing 3) enough 4) dark
135- The fact that he is eating more is a ... that he is getting better.

1) value 2) sign 3) knowledge 4) creation
136- If an animal is not strong enough to ... itself, it won’t stay alive for very long.

1) carry 2) need 3) defend 4) keep

PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Coffee is a popular drink that is made from roasted coffee beans, which are the seeds of the
coffee plant. Coffee has a strong flavor and aroma, and it can have various effects on the
body and mind. Some people drink coffee for its taste, while others drink it for its caffeine
content, which can make them feel more alert and energetic.

There are many ways to prepare and enjoy coffee, such as espresso, cappuccino, latte,
mocha, americano, and more. Each method has a different ratio of coffee, water, milk, and
other ingredients, resulting in different levels of strength and sweetness. Some people like to
add sugar, cream, or flavorings to their coffee, while others prefer it black.

Coffee drinking has some benefits and drawbacks, depending on how much and how
often one consumes it. Some of the benefits of coffee drinking are that it can improve mood,
memory, concentration, and performance. It can also lower the risk of some diseases, such
as type two diabetes, Parkinson’s disease, and Alzheimer’s disease. However, some of the
drawbacks of coffee drinking are that it can cause insomnia, anxiety, jitteriness, and
headaches. It can also increase blood pressure, heart rate, and stomach acidity.

Therefore, coffee drinking is a personal choice that depends on one’s preferences and
needs. Some people may enjoy coffee drinking more than others, and some people may need
to limit their coffee intake for health reasons. The general recommendation is to drink no
more than four cups of coffee per day and to avoid drinking coffee late at night or before
bed. Coffee drinking can be a pleasant and beneficial habit, as long as it is done in
moderation and with awareness.

137- What would be the best title for this passage?
1) The History and Culture of Coftee
2) The Drawbacks of Coffee Drinking
3) The Difterent Methods and Ingredients of Coffee Making
4) The Eftects of and Recommendations for Coffee Consumption
138- The pronoun “It” in paragraph 3 refers to ... .
1) coffee drinking 2) the drawback of coffee drinking
3) insomnia 4) disease
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139- What can be inferred from the passage about drinking coffee late at night?

1) It can help you sleep better. 2) It can make you less energetic.
3) It can make it hard for you to sleep. 4) It can lower your blood pressure.
140- According to the passage, which of the following is NOT one of the bad things about coffee
drinking?
1) Insomnia 2) Alzheimer’s disease
3) Increased blood pressure 4) Increased Stomach acidity

o 4 i 510 I 41505 Sy

=

PART C: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

141- My father is ... Pedram’s. They are both 55 years old.

1) older than 2) as old 3) the oldest 4) as old as
142- Many people believe that Spring is ... season of the year.

1) the most beautiful 2) more beautiful

3) beautiful 4) as beautiful as
143- It takes more time to go to Andishe School because it is much ... than our school.

1) far 2) farther 3) as far as 4) the farthest
144- Red blood cells carry oxygen around the body and ... carbon dioxide.

1) wonder 2) collect 3) order 4) pump
145- Doing exercise on a regular basis can help us keep our bodies ... and live longer.

1) healthy 2) daily 3) brave 4) clear

146- While we can see some planets with the naked eye, seeing Uranus and Neptune is only
possible with powerful ... .
1) observations 2) drops 3) cells 4) telescopes
PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Mercury is the smallest planet in the solar system and the closest to the Sun. It is a
rocky planet, a little bigger than the Earth’s moon. Its orbit around the Sun takes 88 days,
the shortest of all the Sun’s planets. It means that Mercury goes around the Sun every 88
Earth days. Despite its small size, it has very long days. Each day in Mercury is about 58
Earth days long. This planet is often called a morning star. This is because Mercury shines
brightly in the early morning just before the Sun rises. It is also called an evening star for
the same reason. If you moved to Mercury, you would not weigh as much as you do on
Earth because Mercury is smaller and therefore has less gravity. If you weigh 30kgs on
Earth, you will weigh only about 12kgs on Mercury. There is almost no air on Mercury. Its
temperature reaches 800 degrees during daytime, but it is 300 at night. Although it is the
nearest planet to the Sun, it is not the hottest one. Venus is the hottest planet in the solar
system as it has a thick atmosphere to keep heat.

147- What does the passage mainly discuss?
1) Planets in the solar system
2) The heat of Venus compared to that of Mercury
3) The difference between gravity on the Earth and Mercury
4) What the nearest planet to the Sun is and what it is like

148- According to the passage, which of the following is TRUE?
1) The days on Mercury are as long as those on the Earth.
2) Mercury is not as big as Saturn.
3) There is a little air on Mercury.
4) Mercury does not go around the Sun.

149- The pronoun “It” refers to ... .

1) the Sun 2) Earth 3) Mercury 4) morning
150- Venus is the hottest planet because it ... .
1) is the nearest planet to the Sun 2) has less gravity

3) has a thick atmosphere to keep heat 4) has lower temperature at night
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